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7 100kN/m% %% | 1.00 | 000 ~ 332 156327 |3mE{BZ%| 000 ~ 197| 3.85 20.59 | 100kN/miZEBz22 | 1.00 | 1079 ~ 11938 15327 |3mZE#Bz2 2| 5000 ~ 11938| 8.85 20.59
s 1.00 | 832 ~ 1111 100.00 | #nLSy | 1.97 ~ 1111 3.00 16.05 Thlst 1.00 | 6.00 ~ 10.79 100.00 | =nLSt | 6.00 ~ 3000 3.00 16.05
2 100kN/m##8x5 | 1.00 | 000 ~ 321 151.41 |3mZE#BZ 5| 000 ~ 1.92| 3.82 20.42 | 100kN/ %822 | .00 | 1089 ~ 11920 151.41 |3mZE#BZ 2| 2000 ~ 11920| 5.82 20.42
s 1.00 | 821 ~ 1100 100.00 | #nLst | 1.92 ~ 1100 3.00 16.05 Thst 1.00 | 6.00 ~ 10.89 100.00 | =hLst | 6.00 ~ 4000 3.00 16.05
3 100kN/m##8%z% | 1.00 | 000 ~ 333| 156348 |3mE{BZ%| 000 ~ 195| 3.85 20.61 | 100kN/miZEBz22 | 1.00 | 1078 ~ 11720 15348 |3m%E#BZ 2| 5000 ~ 11720| 8.85 20.61
st 1.00 | 833 ~ 1112 100.00 | =St | 1.98 ~ 1112 3.00 16.05 Thst 1.00 | 6.00 ~ 10.78 100.00 | =nLSt | 6.00 ~ 3000 3.00 16.05
4 100kN/m% %% | 1.00 | 000 ~ 350 156.39 |3mE{BZ%| 000 ~ 206| 3.90 20.89 | 100kN/mZ#8z2 | 1.00 | 1065 ~ 12228 156,39 |3mZE#Bz 2| 3000 ~ 12228| 5.90 20.89
ZhLst 1.00 | 850 ~ 1128 100.00 | #hst | 206 ~ 1128 3.00 16.05 zhLst 1.00 | 6.00 ~ 1065 100.00 | #ndst | 6.00 ~ 30.00)| 3.00 16.05
5 100kN/m%#8%% | 1.00 | 000 ~ 379| 161.65 |3mE{BZ%| 000 ~ 222| 4.02 21.52 | 100kN/mZ#Bz22 | .00 | 1058 ~ 12359 161.65 |3mZE#BZ 2| 2500 ~ 12259| 4.02 21.562
s 1.00 | 579 ~ 1158 100.00 | #nLst | 222 ~ 1158 3.00 16.05 Thst 1.00 | 6.00 ~ 1053 100.00 | =nLSt | 6.00 ~ 2500 3.00 16.05
p 100kN/m##8%z% | 1.00 | 000 ~ 385| 162.77 |3mE{BZ%| 000 ~ 226| 4.056 21.68 | 100kN/mZ#Bz2 | .00 | 1058 ~ 12359 16277 |3mZE#BZ 2| 2500 ~ 12259| 4.05 21.68
s 1.00 | 885 ~ 1164 100.00 | =nLSt | 226 ~ 1164 3.00 16.05 Thst 1.00 | 6.00 ~ 1053 100.00 | =nLSt | 6.00 ~ 2500 3.00 16.05
7 100kN/m%#8%% | 1.00 | 000 ~ 397| 16491 |3mE{BZ%| 000 ~ 235| 4.12 2206 | 100kN/miZEBz22 | 1.00 | 1057 ~ 12662 164.91 |3m%E#BZB| 2500 ~ 12662| 4.12 22.06
ThLst 1.00 | 397 ~ 1176 100.00 | NS | 235 ~ 11.76| 3.00 16.05 Zhst 1.00 | 6.00 ~ 1057 100.00 | Fndst | 6.00 ~ 2500 3.00 16.05
g 100kN/mZ#Bz5 | 1.00 | 000 ~ 387| 16308 |3mEBZB| 000 ~ 227| 4.06 21.73 | 100kN/mi%# Bz 5| .00 | 1053 ~ 12273 163.08 |3m&EBZ 3| 2500 ~ 142.73| 4.06 21.73
FhLst 1.00 | 387 ~ 1166 100.00 | NS | 227 ~ 1166] 3.00 16.05 zhst 1.00 | 6.00 ~ 1053 100.00 | Tnlst | 6.00 ~ 25.00| 3.00 16.05
100kN/MZ#2Z % ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
zhs ~ ZznLst ~ ZznLst ~ Zzhust ~
100kN/M%#8Z % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thsn ~ ZznLst ~ ZznLst ~ Zzhust ~
100kN/MZ#2 2 % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thsn ~ znLst ~ ZznLst ~ Zzhust ~
100kN/MZ#22 % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thilst ~ ZznLst ~ ZznLst ~ Zzhust ~
100kN/mMZ#8 2 % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thsn ~ ZznLst ~ ZznLst ~ Zzhust ~
100kN/MZ#22 % ~ 3mEHEAD ~ 100kN/mM%E# 25 ~ ImERZD ~
zhsn ~ znLst ~ ZznLst ~ Zhust ~
100kN/MZ#82 % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
zhsn ~ ZznLst ~ ZznLst ~ Zhust ~




